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General Instructions.

1. The question paper comprises of three sections A, B, and C. You have to attempt all the sections.

2. All the

questions are compulsory.

3. All the answers should be written in the answer sheet provided.
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SECTION A -FILL IN THE BLANKS (1’ MARK EACH ) - TOTAL — 04 MARKS

The quotient of 5.7 + 100 =

207259 = kg

The decimal for 6000 + i =
100

9.500 litres = millilitres

SECTION B — (2’ MARKS EACH ) - TOTAL — 10 MARKS

Arrange in ascending order:  23.05 ; 27.058 ; 23505 ; 27.08
8 chocolate boxes weigh 12.4 kg. Find the weight of one chocolate box?

The height of a tree is 5 metres. A monkey has climbed 175 cm. How much more
the monkey has to climb to reach the top of the tree?

If 227 x 14 = 308 , Find the value of the following:
i)2.27 x 1.4 i) 22.7x1.4 iii)22.7x0.14 iv) 227 x0.14

The cost of one egg is ¥ 3.75. What will a box of 9 eggs cost?

SECTION = C (‘3 MARKS EACH)-TOTAL — 06 MARKS

A train covers a distance of 497.77 km in 7 hours. How much distance it cover in 3

hours?
Solve: 15kg - 1.478kg+ 3kgb6g

End of the question paper.
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